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3
Assignment 

	
	Module 2: Lesson 1 ASSIGNMENT

This Module 2: Lesson 1 Assignment is worth 26 marks. The value of each assignment and each question is stated in the left margin.


	(26 marks)
	Lesson 1 Assignment: Graphical Vector Addition in Two Dimensions


	(4 marks)
	LAB 2.
	In the lower boxes, show the tip-to-tail method of vector addition and the resultant vector for each set of vectors in the upper boxes. Use the simulation to verify your answers.
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	(6 marks)
	LAB 3.
	Complete the following steps.
· Step 1: Draw the parallelogram for the vectors in the top row of the table.

· Step 2: Draw the resultant for the vectors in the top row of the table.

· Step 3: Draw the resultant for the vectors in the bottom row of the table using the tip-to-tail method.

Examples of the parallelogram method and tip-to-tail method have been provided.


	Parallelogram Method
	Example: [image: image5.jpg]
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	Tip-to-Tail Method
	Example: [image: image9.jpg]my sum
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	(8 marks)
	TR 1.
	Using the tip-to-tail method of vector addition, complete “2.2 Check and Reflect” question 8 on page 90 of your textbook.



Answer:

	


	(6 marks)
	
	Reflect and Connect
Recall the canoe problem from the beginning of the lesson. Using the 
tip-to-tail method of vector addition, construct a vector diagram that shows how the canoe would need to be directed in order to get to points A, B, and C. Consider how each of the three vector diagrams (triangles) demonstrates the tip-to-tail method of vector addition.



Answer:

	


	(2 marks)
	
	Discuss
Using the two vectors [image: image13.png]g

and b



, you should be able to show that [image: image14.png]


 and [image: image15.png]


 give the same resultant. Illustrate both scenarios using a vector diagram. Post your diagram and explain your proof in the discussion area.



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.



